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MMoxirmun Marks: 75)

(N.E: (1} CLNo. & in PART - A and Q.Nc. 16 i BART - 0 are compulsary.
Anwewer any TR guestions from the TERTDINIRG in foch PART - 4
nnd FART - B

L2} Arswrar divisian fal or divisian fol of each guession o PART -

{37 Foch questing carrles 7 marks in PART - A 3 marks in Parl - B
ard 10 marks in PART -

PART - A
Defne process plarning.
wial are the informations needed for 1ne value GRdiyvsis?
stale the cho'ces invelved in procoss selaction,
Gefine the term selection of mataricl,

Write down the basic procedurs fallawes for condycting method
study.

How divect labour cost is estimared?
Defing the terms cutting speed and foad,

What is 5IMC chart? What is the time uni used in the canstruction of
a SIMO chore?

FART - B
Explain why Une balancing is necessary.

Explain the method of determination of materials requirements with
an excmple,

Exzlain the concept of work content.

state the applications of micro metian study.

What is the purpose of cost accounting?

3riefly explain the procedure for assigning cutting variakbles,
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M ocost iron flange of 300mm outer diometer hos a bore of 100mm.
This i3 10 pe faced on o lothe, Colculate the machining time to foce
the part, if the fesd and cutiing speed are 0.8mmjrev, ond 30
mfin. respectively.

The monthly requirement of o company is 4000 compensnts.  The
cost of each part is 12 and the cost of ecch set up iz T 6D per Lot
If the carrying charge factor is 20%, determine [Ecanomic Lot size
and tiij5et up tims for acch lot.
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machinss are given below.

PART - C

Ihe follewing dato rofers o o manufaciuring uni.

Fined cost -1 1,00,000
Yorioble cast - 100 perumt
Selling price - ¥ 200 per unit

i Cowculcete the breakeven paint.

M f the Mxed cost increases 1o € 1,25,000 and wariable cost
reducas to # 90 per unit, obtain the new breci-even paint.
(iilAlso coleulate the number of components needed Lo be
prodacesd to get a arofit of T 20,000,

(Cir)

Compare cost cortrol with cost reduction.
F

& component can be produced on either a capstan tathe ar an
automatic wthe, The different cost factors for the two

For copstan €. For automatic | T
Lecthe lathe i
Fixod cost 400 Fixed cost 1600

erianle cost 2 per piece Norionle cgst 0.5C per piece

Assume that the cycle time for production of the companent is
same for both machines, Whickh machine will you select for
producing (1900 {700 comporernts? Whot is the breas even
cuaantity?

{ O}

How will you prepare an aperation plarning sheet for a given
component?
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wihat are therbligs? Give the name, explanation, abbrevigtion,
syl and colour of Gny 10 impartant therbligs.

(orl
A job was broken dowr into 8 elements, The ocbservations are
given below.
Elament | R et & 4 5 g 7 B

| Dnserved  tme in |11 |08 |05 |18 [GB |07 [1.2 [0
[ rrinuks | |

[F i 55 100 | 120 | 130 | %0 | SG 11ﬁ'|a:;-'"

Calocwgte the stondard time. Assume Ffatigue allowance,
contingency allowance, special allowance and pelicy allowance
each 1004,

Exnlcin the basic steps in making g cost estimate.
(Or)

£ certa'n plece of work is produced by e firm 'n batches of 100,
The direct materials cost for that 100 piece work is ¥ 160 and
the direct lobour costs is 200, Foctory an cost is 35396 of the
total matericl and labour cast, Qver head charges are 20% of
the foctory cosr, Calculate prime cost and foctory cost. If the
menegerrent wants to make a profit of 10% cn the gross cost,
ceiermine the seiling orice of each article.

A machine bed is to be plened in two cuts on a planing
mackine, |k takes 10 secongs in forward stroke and & seconds
in return stroxe, Find out the time reguired to plane the bed of
wicts 600mm. Assurne the feed s 2 mmy/stroke.

[l

A Flat is to be cut across of o round bross bar 50mm In
d'ameter. The depth of cut is 18mm. The diameter of cutter is
100mm, Cattirg spesd s 50mdmin with a feed of 0.2mm wooth.
Find the milling time, if the cutter has 8 teeth,



